# International Journal of Mathematical Archive-2(4), Apr. - 2011, Page: 610-616 (ब) MA Available online through wWw.i.jma.info ISSN 2229-5046 

# GENERALIZATON OF FIXED POINT THEOREMS IN PARTIAL CONE METRIC SPACES 

S. K. Malhotra ${ }^{1}$, ${ }^{\text {S. Shukla }}{ }^{2}$, R. Sen ${ }^{3}$, N. Verma ${ }^{4}$<br>${ }^{1}$ Head deptt. Of Mathematics, Govt. S .G .S .P .G. College Ganj Basoda, Distt Vidisha (M.P.) India<br>${ }^{2,3}$ Asst. Prof. Department of Applied Mathematics, Shri Vaishnav Institute of Technology and Science, Indore (M.P.) India<br>${ }^{4}$ Asst. Prof. Department of Mathematics S. D. Bansal College of Technology Indore, (M.P.) India<br>Email: satishmathematics@yahoo.co.in

(Received on: 08-04-11; Accepted on: 15-04-11)


#### Abstract

The object of this paper is to generalize the Fixed Point theorems in the partial cone metric spaces given by Sönmez [1] using the concept of normality of cone. Results proved in this paper are generalization of Fixed Point results established for metric spaces.


Keywords: Partial Cone Metric Space, Fixed Point, Contractive Mapping.
AMS (1991) Subject classification: 54H25, 47H10.

## 1. INTRODUCTION:

Huang and Zhang [3] initiate the concept of cone metric space and generalized the concept of metric spaces. In this space they replace the set of real numbers by the ordered Banach space. Recently many papers on cone metric spaces have been appeared e.g. see [4], [6], and main topological properties of such spaces have been obtained. The usual metric which is defined on cone metric spaces suggest that the self-distance for any point is zero but in partial cone metric space this distance need not zero. Specially, from the point of sequence, a convergent sequence need not have unique limit. The concept of partial cone metric play a very important role not only in topology but also in other branches of science and applied science involving mathematics especially in computer science, information science, and biological science.

In this paper we extend the results proved by Sönmez [1] and established fixed point results which have been proved in cone metric space e.g. see [2].

## 2. PRELIMINARIES:

Definition 2.1 [1]: Let $E$ be a real Banach space and $P$ be a subset of $E$. The set $P$ is called a cone if
(C1) $P$ is closed, nonempty and $P \neq\{0\}$, here 0 is the zero vector of $E$;
(C2) $a, b \in \mathfrak{R}, a, b \geq 0, \quad x, y \in P \Rightarrow a x+b y \in P$;
(C3) $x \in P$ and $-x \in P \Rightarrow x=0$.
Given a cone $P \subset E$, we define a partial ordering $\leq$ with respect to $P$ by $x \leq y$ if and only if $y-x \in P$. We write $x<y$ to indicate that $x \leq y$ but $x \neq y$. While $x \ll y$ if and only if $y-x \in P^{0}$, where $P^{0}$ denotes the interior of $P$.

[^0]Proposition 2.2: Let $P$ be a cone in a real Banach space $E$. If for $a \in P$ and $a \leq k a$, for some $k \in[0,1)$ then $a=0$.
Definition 2.3 [1]: Let $P$ be a cone in a real Banach space $E$ then $P$ is called normal, if there exists a constant $K>0$ such that for all $x, y \in E$

$$
0 \leq x \leq y \text { implies }\|x\| \leq K\|y\|
$$

The least positive number $K$ satisfying the above inequality is called the normal constant of $P$.
Definition 2.4 [1]: Let $X$ be a nonempty set, $E$ be a real Banach space. Suppose that the mapping $d: X \times X \rightarrow E$ satisfies:
(CM1) $0 \leq d(x, y)$, for all $x, y \in X$ and $d(x, y)=0$ if and only if $x=y$;
(CM 2) $d(x, y)=d(y, x)$ for all $x, y \in X$;
(CM 3) $d(x, y) \leq d(x, z)+d(z, y)$, for all $x, y, z \in X$.
Then $d$ is called a cone metric on $X$, and $(X, d)$ is called a cone metric space.
We note that any cone metric space is a topological Hausdorff space without the assumption of normality on $E$.
In this paper, we always suppose that $E$ is a Banach space, $P$ is a cone in $E$ with $P^{0} \neq \phi$ and " $\leq$ " is partial ordering with respect to $P$.

Definition 2.5 [1]: A partial cone metric on a nonempty set $X$ is a function $p: X \times X \rightarrow E$ such that for all $x, y, z \in X$;
(p1) $x=y$ if and only if $p(x, x)=p(x, y)=p(y, y)$;
(p2) $0 \leq p(x, x) \leq p(x, y)$;
(p3) $p(x, y)=p(y, x)$;
(p4) $p(x, y) \leq p(x, z)+p(z, y)-p(z, z)$.
A partial cone metric space is a pair $(X, p)$ such that $X$ is a nonempty set and $p$ is a partial cone metric on $X$.
Remark: 2.6 It is clear that, if $p(x, y)=0$, then from (p1) and (p2) $x=y$ but converse may not be true.
A cone metric space is a partial cone metric space. But there are partial cone metric spaces which are not cone metric spaces. The following examples will illustrate it better

Example: $\quad 2.7 \quad$ Let $E=\mathfrak{R}^{2}, \quad P=\{(x, y) \in E: x, y \geq 0\}, \quad X=\mathfrak{R}^{+}$and $p: X \times X \rightarrow E \quad$ defined $\quad$ as $p(x, y)=(\max \{x, y\}, \alpha \max \{x, y\})$ where $\alpha \geq 1$ is a constant. Then $(X, p)$ is a partial cone metric space which is not a cone metric space.

Example 2.8: Let $E=\ell_{1}, P=\left\{\left\{x_{n}\right\} \in \ell_{1}: x_{n} \geq 0\right\}, X=\left\{\left\{x_{n}\right\}:\left\{x_{n}\right\} \in\left(\mathfrak{R}^{+}\right)^{\omega}, \sum x_{n}<\infty:\right\}$ where $\left(\mathfrak{R}^{+}\right)^{\omega}$ is the set of all infinite sequence over $\mathfrak{R}^{+}$, and $p: X \times X \rightarrow E$ defined by,
$p(x, y)=\left(\max \left\{x_{1}, y_{1}\right\}, \max \left\{x_{2}, y_{2}\right\}, \ldots, \max \left\{x_{n}, y_{n}\right\}, \ldots\right)$.
Then $(X, p)$ is a partial cone metric space, but not cone metric space.

Let $(X, d)$ be a partial cone metric space, $x \in X$ and $A$ be a non-empty subset of $X$. The distance between the set $A$ and the singleton set $\{x\}$, and that between two subsets $A$ and $B$ of $X$ given as

$$
p(x, A)=\inf \{p(x, a): a \in A\}, \quad p(A, B)=\inf \{p(a, b): a \in A, b \in B\}
$$

Throughout this paper $(X, p)$ will denote a partial cone metric space with respect to cone $P$.

Theorem: 2.9 [1] Any partial cone metric space $(X, p)$ is a topological space.

Proof: For $c \in P^{0}$ let $B_{p}(x, c)=\{y \in X: p(x, y) \ll c+p(x, x)\}$ and $\beta=\left\{B_{p}(x, c): x \in X, c \in P^{0}\right\}$.
Then $\tau_{p}=\{U \subset X: \forall x \in U, \exists B \in \beta, x \in B \subset U\}$ is a topology on $X$.

Definition: 2.10 [1] Let $(X, p)$ be a partial cone metric space. Let $\left\{x_{n}\right\}$ be a sequence in $X$ and $x \in X$. If for every $c \in P^{0}$ there is $n_{0} \in \mathbf{N}$ such that for all $n>n_{0} p\left(x_{n}, x\right) \ll c+p(x, x)$ then $\left\{x_{n}\right\}$ is said to be convergent, and $\left\{x_{n}\right\}$ converges to $x$. We denote this by $\lim _{n \rightarrow \infty} x_{n}=x$ or $x_{n} \rightarrow x$ as $n \rightarrow \infty$.

Theorem 2.11 [1]: Let $(X, p)$ be a partial cone metric space, $P$ be a normal cone with normal constant $K$. Let $\left\{x_{n}\right\}$ be a sequence in $X$. Then $\left\{x_{n}\right\}$ converges to $x$ if and only if $p\left(x_{n}, x\right) \rightarrow p(x, x),(n \rightarrow \infty)$.

We note that if $(X, p)$ be a partial cone metric space, $P$ be a normal cone with normal constant $K$, if $p\left(x_{n}, x\right) \rightarrow p(x, x)(n \rightarrow \infty)$ then $p\left(x_{n}, x_{n}\right) \rightarrow p(x, x)(n \rightarrow \infty)$.

Lemma: 2.12 [1] Let $\left\{x_{n}\right\}$ be a sequence in a partial cone metric space $(X, p)$. If a point $x$ is the limit of $\left\{x_{n}\right\}$ and $p(y, y)=p(x, y)$, then $y$ is the limit of $\left\{x_{n}\right\}$.

Definition 2.13 [1]: Let $(X, p)$ be a partial cone metric space. $\left\{x_{n}\right\}$ be a sequence in $X .\left\{x_{n}\right\}$ is Cauchy sequence if there is $a \in P$ such that for every $\mathcal{E}>0$ there is $n_{0} \in \mathbf{N}$ such that for all $n, m>n_{0}$

$$
\left\|p\left(x_{n}, x_{m}\right)-a\right\|<\varepsilon
$$

We call a partial cone metric space complete if every Cauchy sequence in space is convergent in space.
For more basic results we refer [1].

## 3. MAIN RESULTS:

Theorem: 3.1 Let $(X, p)$ be a complete partial cone metric space, $P$ be a normal cone with normal constant $K$. Suppose that the mapping $T: X \rightarrow X$ satisfying the contractive condition, $p(T x, T y) \leq a p(x, y)+b p(T x, x)+c p(T y, y)+d p(T x, y)+e p(T y, x) \ldots$ (3.1.1) Where $a, b, c, d, e$ all are nonnegative constant such that $a+b+c+d+e<1$. Then $T$ has unique Fixed Point in $X$.

## Proof:

Existence of Fixed point: Let $x_{0} \in X$ be arbitrary point of $X$. We define iterative sequence $\quad\left\{x_{n}\right\}$ by $T x_{n}=x_{n+1}$.

First we shall show that this sequence is a Cauchy sequence.
Taking $x=x_{n}, y=x_{n-1}$ in (3.1.1) we get

$$
\begin{gathered}
p\left(T x_{n}, T x_{n-1}\right) \leq a p\left(x_{n}, x_{n-1}\right)+b p\left(T x_{n}, x_{n}\right)+c p\left(T x_{n-1}, x_{n-1}\right)+d p\left(T x_{n}, x_{n-1}\right)+e p\left(T x_{n-1}, x_{n}\right) \\
\Rightarrow p\left(x_{n+1}, x_{n}\right) \leq a p\left(x_{n}, x_{n-1}\right)+b p\left(x_{n+1}, x_{n}\right)+c p\left(x_{n}, x_{n-1}\right)+d p\left(x_{n+1}, x_{n-1}\right)+e p\left(x_{n}, x_{n}\right) \\
\Rightarrow p\left(x_{n+1}, x_{n}\right) \leq a p\left(x_{n}, x_{n-1}\right)+b p\left(x_{n+1}, x_{n}\right)+c p\left(x_{n}, x_{n-1}\right)+d\left[p\left(x_{n+1}, x_{n}\right)+p\left(x_{n}, x_{n-1}\right)\right. \\
\left.-p\left(x_{n}, x_{n}\right)\right]+e p\left(x_{n}, x_{n}\right)
\end{gathered}
$$

Writing $p\left(x_{n}, x_{n+1}\right)=p_{n}$ we get

$$
\begin{align*}
& p_{n} \leq a p_{n-1}+b p_{n}+c p_{n-1}+d\left[p_{n}+p_{n-1}\right]+(e-d) p\left(x_{n}, x_{n}\right) \\
\Rightarrow \quad & p_{n} \leq(a+c+d) P_{n-1}+(b+d) p_{n}+(e-d) p\left(x_{n}, x_{n}\right) \tag{3.1.2}
\end{align*}
$$

Again using (3.1.1) with $x=x_{n-1}, y=x_{n}$ and using symmetry of inequality we get

$$
\begin{equation*}
p_{n} \leq(a+b+e) p_{n-1}+(c+e) p_{n}+(d-e) p\left(x_{n}, x_{n}\right) \tag{3.1.3}
\end{equation*}
$$

adding (3.1.2) and (3.1.3) we get

$$
\begin{aligned}
& & 2 p_{n} & \leq(2 a+b+c+d+e) p_{n-1}+(b+c+d+e) p_{n} \\
\Rightarrow & & p_{n} & \leq \frac{(2 a+b+c+d+e)}{2-(b+c+d+e)} p_{n-1} \\
\Rightarrow & & p_{n} & \leq \lambda p_{n-1}, \quad \text { where } \quad \lambda=\frac{(2 a+b+c+d+e)}{2-(b+c+d+e)}<\frac{a+1}{1+a}=1, \text { hence } \lambda<1 .
\end{aligned}
$$

Thus $\quad p_{n} \leq \lambda p_{n-1}$ implies that

$$
\begin{equation*}
p_{n} \leq \lambda^{n} p_{0} \tag{3.1.4}
\end{equation*}
$$

Now let $m, n \in \mathbf{N}$ and $m>n$, then

$$
\begin{align*}
& p\left(x_{n}, x_{m}\right) \leq \\
& p\left(x_{n}, x_{n+1}\right)+p\left(x_{n+1}, x_{n+2}\right)+\ldots+p\left(x_{m-1}, x_{m}\right)-\left[p\left(x_{n+1}, x_{n+1}\right)+p\left(x_{n+2}, x_{n+2}\right)\right. \\
& \left.\quad+p\left(x_{m-1}, x_{m-1}\right)\right] \\
\Rightarrow & p\left(x_{n}, x_{m}\right) \leq \\
\Rightarrow & p_{n}+p_{n+1}+\ldots+p_{m-1} \\
\Rightarrow & p\left(x_{n}, x_{m}\right) \leq \lambda^{n} p_{0}+\lambda^{n+1} p_{0}+\lambda^{n+2} p_{0}+\ldots  \tag{3.1.5}\\
\Rightarrow & p\left(x_{n}, x_{m}\right) \leq \lambda^{n}\left[+\lambda+\lambda^{2}+\ldots\right] p_{0} \\
\Rightarrow & p\left(x_{n}, x_{m}\right) \leq \frac{\lambda^{n} p_{0}}{1-\lambda}
\end{align*}
$$

Hence by normality we have

$$
\left\|p\left(x_{n}, x_{m}\right)\right\| \leq \frac{\lambda^{n} K}{1-\lambda}\left\|p_{0}\right\|, \text { here } K \text { is the normal constant of cone. }
$$

Now since $\lambda<1$ hence $\left\|p\left(x_{n}, x_{m}\right)\right\| \leq \frac{\lambda^{n} K}{1-\lambda}\left\|p_{0}\right\| \rightarrow 0$, as $\quad n \rightarrow \infty$.

Therefore $\left\{x_{n}\right\}$ is a Cauchy sequence, and $X$ is complete hence it must be convergent in $X$, let $\lim _{n \rightarrow \infty} x_{n}=u \in X$, and therefore

$$
\begin{equation*}
\lim _{n \rightarrow \infty} p\left(x_{n}, u\right)=p(u, u)=\lim _{n \rightarrow \infty} p\left(x_{n}, x_{n}\right)=0 \tag{3.1.6}
\end{equation*}
$$

Now consider

$$
\begin{aligned}
& p(T u, u) \leq p\left(T u, T x_{n}\right)+p\left(T x_{n}, u\right)-p\left(T x_{n}, T x_{n}\right), \text { and using (3.1.1) we get } \\
& \begin{aligned}
& p(T u, u) \leq a p\left(u, x_{n}\right)+b p(T u, u)+c p\left(T x_{n}, x_{n}\right)+d p\left(T u, x_{n}\right)+e p\left(T x_{n}, u\right)+p\left(T x_{n}, u\right) \\
& \quad-p\left(T x_{n}, T x_{n}\right) \\
& \leq a p\left(u, x_{n}\right)+b p(T u, u)+c p\left(x_{n+1}, x_{n}\right)+d p\left(T u, x_{n}\right)+e p\left(x_{n+1}, u\right)+p\left(x_{n+1}, u\right) \\
& \leq a p\left(u, x_{n}\right)+b p(T u, u)+c p\left(x_{n+1}, x_{n}\right)+d p\left(T u, x_{n}\right)+(e+1) p\left(x_{n+1}, u\right) \\
& \leq a p\left(u, x_{n}\right)+b p(T u, u)+c p\left(x_{n+1}, x_{n}\right)+d\left[p(T u, u)+p\left(u, x_{n}\right)-p(u, u)\right] \\
&+(e+1) p\left(x_{n+1}, u\right)
\end{aligned}
\end{aligned}
$$

So using (3.1.4) we have

$$
p(T u, u) \leq \frac{a+d}{1-b-d} p\left(u, x_{n}\right)+\frac{c \lambda^{n} p_{0}}{(1-b-d)(1-\lambda)}+\frac{(e+1)}{1-b-d} p\left(x_{n+1}, u\right)
$$

Hence

$$
\|p(T u, u)\| \leq \frac{(a+d) K}{1-b-d}\left\|p\left(u, x_{n}\right)\right\|+\frac{c \lambda^{n} K\left\|p_{0}\right\|}{(1-b-d)(1-\lambda)}+\frac{(e+1) K}{1-b-d}\left\|p\left(x_{n+1}, u\right)\right\| \rightarrow 0 \text { as } n \rightarrow \infty
$$

So we have $\quad\|p(T u, u)\|=0$ therefore $p(T u, u)=0$ or $T u=u$.

Thus $u$ is a Fixed Point of $T$.

## UNIQUENESS:

If $v$ is another Fixed Point of $T$ then $T v=v$.
Using (3.1.1) with $x=u, y=v$ we get

$$
\begin{array}{ll}
\Rightarrow & p(T u, T v) \leq a p(u, v)+b p(T u, u)+c p(T v, v)+d p(T u, v)+e p(T v, u) \\
\Rightarrow & p(u, v) \leq a p(u, v)+b p(u, u)+c p(v, v)+d p(u, v)+e p(v, u)
\end{array}
$$

$\Rightarrow \quad p(u, v) \leq(a+d+e) p(u, v)+c p(v, v)$

Again Using (3.1.1) with $x=v, y=u$ we get

$$
\begin{equation*}
p(u, v) \leq(a+d+e) p(u, v)+b p(v, v) \tag{3.1.8}
\end{equation*}
$$

Adding (3.1.7) and (3.1.8) we get

$$
\begin{aligned}
& 2 p(u, v) \leq 2(a+d+e) p(u, v)+(b+c) p(v, v) \\
\Rightarrow & p(u, v) \leq \frac{(b+c)}{2(1-a-d-e)} p(v, v)=\mu p(v, v)
\end{aligned}
$$

Where $\mu=\frac{(b+c)}{2(1-a-d-e)}<\frac{(b+c)}{2(b+c)}=\frac{1}{2}$
Thus $\quad \mu<\frac{1}{2}$
Therefore $\quad p(u, v) \leq \mu p(v, v) \leq \mu[p(v, u)+p(u, v)-p(u, u)]$

Or $\quad p(u, v) \leq 2 \mu p(u, v)$, but $\mu<\frac{1}{2}$ so $2 \mu<1$, hence by Proposition 2.2 we have $p(u, v)=0$ hence $u=v$, Thus Fixed Point is unique.

Now we prove some consequences of above theorem,
If we take $d=e$ in theorem 3.1 we get the following theorem
Theorem: 3.2 Let $(X, p)$ be a complete partial cone metric space, $P$ be a normal cone with normal constant $K$. Suppose that the mapping $T: X \rightarrow X$ satisfying the contractive condition, $p(T x, T y) \leq a p(x, y)+b p(T x, x)+c p(T y, y)+d[p(T x, y)+p(T y, x)] \quad$ Where $a, b, c, d$ all are nonnegative constant such that $a+b+c+2 d<1$. Then $T$ has unique Fixed Point in $X$.

If we take $b=c, d=e$ in theorem 3.1 we get the following theorem

Theorem 3.3: Let $(X, p)$ be a complete partial cone metric space, $P$ be a normal cone with normal constant $K$. Suppose that the mapping $T: X \rightarrow X$ satisfying the contractive condition,
$p(T x, T y) \leq a p(x, y)+b[p(T x, x)+p(T y, y)]+d[p(T x, y)+p(T y, x)]$
Where $a, b, d$ all
are nonnegative constant such that $a+2 b+2 d<1$. Then $T$ has unique Fixed Point in $X$.
All above theorems are the extension of theorems proved in [1].
If we take $b=c=d=e=0,0<a<1$ in theorem 3.1 we get the following theorem
Theorem: 3.4 [1, Theorem 6] Let $(X, p)$ be a complete partial cone metric space, $P$ be a normal cone with normal constant $K$. Suppose that the mapping $T: X \rightarrow X$ satisfying the contractive condition, $p(T x, T y) \leq a p(x, y)$ for all $x, y \in X$, Where $a \in(0,1)$. Then $T$ has unique Fixed Point in $X$.

Remark: 3.5 If we take $b=c=d=e=0,0<a<1$ then there is no harm in the argument as we use in the proof of uniqueness in theorem 3.1.

If we take $b=c, d=e=a=0,0<b<\frac{1}{2}$ in theorem 3.1 we get the following theorem.

Theorem: 3.6 [1, Theorem 7] Let $(X, p)$ be a complete partial cone metric space, $P$ be a normal cone with normal constant $K$ Suppose that the mapping $T: X \rightarrow X \quad$ satisfying the contractive condition, $p(T x, T y) \leq b[p(T x, x)+p(T y, y)]$ where $b \in\left(0, \frac{1}{2}\right)$. Then $T$ has unique Fixed Point in $X$.

## 4. REFERENCES:

[1] Ayşe Sönmez, Fixed Point Theorems in Partial Cone Metric Spaces, arXiv: 1101.2741v1 [math.GN] 14 Jan 2011.
[2] J. O. Olaleru, Some Generalizations of Fixed Point Theorems in Cone Metric Spaces, Hindawi Publishing Corporation Fixed Point Theory and Applications Volume 2009, Article ID 657914, 10 pages.
[3] L. G. Huang, X. Zhang, Cone metric spaces and Fixed point theorems of Contractive mappings, J. Math. Anal. App. 332 (2007), 1468-1476.
[4] M. Abbas, G Jungck, common Fixed point results for non commuting mappings without continuity in Cone metric spaces, J. Math. Anal. Appl. 341(2008), 416-420.
[5] Shobha Jain, Shishir Jain and Lal Bahadur, Compatibility and weak Compatibility for four self maps in a cone metric space, Bulletin of Mathematical analysis and application 1(2009), 1-18.
[6] Sh. Rezapour, R. Hamlbarani, Some notes on the paper "Cone metric spaces and Fixed point theorems of contractive mappings", J. Math. Anal. Appl. 345(2008), 719-724.


[^0]:    *Corresponding author: *S. Shukla², E-mail: satishmathematics@yahoo.co.in

